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Is it rather not, on a weekday - I3 XY RON

Overview

The X3 concluded that the P09 of nNnY QTR 72m1 7AW A2 791 cannot be
discussing naw, for then if they were warned, why is m12%w° 7172 7197 (he should be
exempt because of n"2%p), if there was no warning, why nny 078 7on. We must
therefore conclude that the 09 is discussing 97" Our mooIn explains why we
must say that 7125w 7n72 791 is discussing both 712 and a2 (or whether or not
there was a x1n7),” and therefore DX 7797 is also T2 P21 AwW2 2.

nvoIN asks:
- 59NN NN Y90 “91NaY 79NNT 2702 22519 19981 1) TINA MNINN ON)

And if you will say, we can also say regarding a n772 7101 on a weekday that the
P09 is discussing a case where at the same time that he smote the 7772, he

killed a person -

- SD1N DIV N2 19N X9
And they did not warn him regarding the person, when he was killing the cow and
the person —

N1dOIN continues to ask:
- 75‘!:\’) DIV 13 9NN XD NNNA DIVN N3 IINNT 9195199 13981 919) NAWIA 1IN

! We can now say, just like by mama 72n, there is no difference between m1 23w (on 211); he is always 2»n, similarly
the 705 of D"35P by o7& 751 is both by 21w and 71,

2 No 7xn7 and 2w are the same, in the sense that there is no actual 7n° 217.

3 miooin is asking how do we know that by m72 7191 there is no difference between (™07 X?) 3w and (1n7) 7.
Perhaps the 21 of 7172 1197 is only in a case where there is no 1"21%p, because no one is being executed.

* He was warned not to kill the 7712; it was 7°2 17X, the same is by o7X 79n that he was warned not to kill. There
was a warning regarding to what the 109 states clearly, by 7172 701 there was a warning regarding the 7n72 (only),
and by 07X 751 there was a warning regarding 07X 770n. See ‘Thinking it over’.

> Perhaps the reason MooIn can establish the 710 in this manner that he killed the 772 and the 7%, because possibly
the oo hints to it, by saying N 078 79m1 TIMW° 7172 791, somehow putting together the 7172 7191 with the 7197
a78. The nnn2 791 cannot pay if N> DX 791, because of n"27p, so we will interpret the P09 in the following way;
mnna 7on, if he was warned for the 772 only, the rule is 7nbw° (even if he was 07X 79 [without 7Xn7]), but when
he was warned for the o7& then N and there is no payment, because there is an actual execution, but if there is no
execution then manw° 772 1191 even if he killed a person, provided it was A w2 or 78707 °22.

% Therefore, the case of 772 797 is not 12 1907 12 1°2 12 1707 173, but rather only by 12 1707 (regarding the 7732), and
so the Mwd of n"2%p (by N1 07X 7131) is only by 12 17N where there is an actual 70 21.

7 The explanation of the P09 will be similar to what was stated previously (in footnote # 5); he killed the 7n72 on
naw, and he was warned not to kill a n73, but he was not told or warned that by killing the 7n72 he is in°n 211 for
naw M7°n. therefore, he has to pay, but if he was warned (in a different case) not to kill a person he is inn 2>, so in
both cases he was warned, which is what the 109 states 7n72 79 and 27X 797 respectively, but there is no hint of &
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And even if the 7272 7101 took place on naw, as the X713 asked previously, we can
also say that they warned him regarding the 12772, not to kill it, but they did
not warn him regarding naw —

Moo answers:
- 99V 19299 0PI YT 1Y YN
And one can say the notwithstanding all this we can correctly derive that by n"2%7
there is no difference whether he was a 22 or a 7°1, for in all cases he is exempt from paying -
- SanNana Ty NNNINL Y 1’32 HPYN XY NNNA NONI NNY
For just as by n%m2 5%, you have not distinguished whether he was a anw

when he hit her, or whether he was a 7°1» when he hit her -
- NN MY INNINA T3 192 13 PIYHN Y DN N

Similarly, by a person, do not distinguish whether he was a 7912 when he smote

him, or whether he was a 3312 when he smote him, and in both cases, there is the 79
of n"a% -

NN offers an alternate solution:
- 152 990K Py 992 999N 333 11N N TH53 19NN 399K DTN NIMY YININ 3133 ON

Or you may also say, since 'a7® 752" (according to N1©OIN proposed suggestion),
is discussing where he was warned, therefore ;17772 719% is also discussing a case

where he was warned, in whichever manner possible -
$NIY DTN 1912 XYY NAWA 99N 819 NY 190D

Therefore, it cannot be discussing that it happened on naw, nor that he killed a

person together with killing the 73, for since he was warned on everything, he would not be
liable to pay because of n"2%p. Therefore, we must conclude that by 772 701 he was not warned.

Summary
Regardless whether he killed another person or he killed on naw, regarding the

killing of the fn72, he is liable whether it was done 22 w2 or 72, the same applies
to the MW of n"2%p by 07X 77,

7% AW 12 NP2, for he was a 7°m in both cases, and only then do we say n"2%p.

8 Even if we assume that 77»172 7197 is in a case of 72 10X (for the m2 [see footnote # 5]), nevertheless it is obvious
that even if 71°2 170X X%, he will be liable by m72 fon.

? See previously in this mooin (footnotes # 4, 5 and 7).

' Just as by 07X 719%, he was warned regarding all aspects of his transgression (there was no prohibited action for
which he was not warned), similarly we will need to say by 12 7121 that he was warned for all his actions (not only
for killing the 7773, but) including naw 212°11 and killing a person.
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Thinking it over

nvoIN, in his question, is (seemingly) saying that both 7172 719n, and O7X 791 are in
a case of 121707, except that by 772 727 they only warned him about the 7n72, but
not about the n 2vn (which is killing or naw).!" However, this seems puzzling
what kind of warning is there regarding killing a 77772; it is a meaningless warning;
one is liable for damaging property (a 7ni2) whether or not there was a warning.
How can we say that both cases (772 791 and 07X 710n) are with a warning, when
the warning by 772 71971 is meaningless?!

1 See footnote # 8.
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